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       = P(Z >1)=0.841345
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3.(20 points) 
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Reject H0 if z0  < (z (/2   where (z0.005 = (2.58 or  z0 > z(/2   where z0.005 = 2.58

-3.42<-2.58 SO REJECT.

b) For  ( = 0.01, z(/2 = z0.005 = 2.58
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     45.616 ( ( ( 49.384


    With 99% confidence, we believe the true mean yield of the chemical process is between 45.616% and 
  
    49.384%.
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b)

E(U)=σ2

σ2=k2n σ2

 k=1/2n

_1107753502.unknown

_1107753747.unknown

_1107753871.unknown

_1107754039.unknown

_1107753728.unknown

_1107753345.unknown

_1107753370.unknown

_1086168848.unknown

_973687540.unknown

